normalized X?

1072

107

[ normalized x? probability |

0.08

0.06!

s
il

M
[

L

v j
o i i i
¢ R H\HI=H| | T
o il ! M
oosb— & 44 f 0 L oosh Hm HHH HHH""H "HHHH"HHH‘H HHH‘ HHHH"HHHH‘ H m
0 2 4 6 8 10 12 14 16 18 20 0 0.10.20.304050.60.7080.9
X2 Prob(x?)
=== DQM_TT__CKF_ORIG
s DQM_TT__CKFandPLess_ORIG
mm—m= DQM_TT__CKFandPLess_MODIF
A 5F = 5p
= E = F
2 4sf A 4f
Iy E o 35
=< 4 H
voAE ;" E
3.5F ° 2H
E 1
3F =
E o]2
2.5F E
F —15
ZE— - _25
1.51 _3f]
o -4
o O ' o st
3 i i 3 i
i3 ! ! x !
1 1H -4
095372 0 1 2 3 0953= - 0 2 3
n TP n (PCA to beamline)
A 3r T A F
2 [ : 2 18F-
S 25 e eeeeeans PEF TRRPEE:PEPPPERY %< 1.6f-
] r . v E
[ 1.4F-
2F 12F
[ -
151 0.8F-
0.6F
b 0.4F
[ 0.2F
o 05 o O
© ©
x 1 i
1’ 1 -+ - 05F
095 . s oL~
107 1 10 102 go 10 1072 ) 15)’1
T AR(track, jet
g ¥
A 4
- E
o 3F
G E :
= F R
) 2F k
v E |
EREYH
OF b
-k ;
_2;_. 1. I
S .
4 i 5
=E i i i
o ] .
= 1 E B R T EET PR
@
0.9F FHH- A4} ---F--- -

107 1



	Contents
	Page 1


